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QUESTION 1

An administrator needs to upgrade the guest operating system installed in a virtual machine. The administrator wants to

safely ensure that the selected operating system is supported by ESXi. Which action should the administrator take to

meet this goal?

A. Perform a guest OS and product search In the VMware Compatibility Guide.
B. Look in the guest OS version drop-down menu of the VM.

C. Snapshot the VM before performing the operating system upgrade.

D. Check the web page of the guest operating system vendor.

Correct Answer: A

QUESTION 2

Refer to the exhibit:
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An administrator deletes the Service 1.5 snapshot. What is the result of this action?

A. Reversion to Service 1 snapshot, and Service 2 snapshot will remain.

B. Reversion to Service 1 snapshot, and Service 2 snapshot will be deleted.
C. Reversion to Service 2 snapshot, and Service 1 snapshot will be deleted.
D. Deletion of all snapshots.

Correct Answer: A

QUESTION 3

Which hardware is required to support Fibre Channel storage?
A. ISCSI adapter

B. HBA

C.CNA
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D. NIC

Correct Answer: B

QUESTION 4

A company has a few virtual machines running software XYZ that only support the current CPU type. With hardware
refresh, the company wants leverage the new processor features for all VMs except for VMs Running software XYZ.

Which feature meets this requirement?
A. Per-VM EVC

B. vSphere High Availability

C. Cluster-Level EVC

D. vSphere vmotion

Correct Answer: A

QUESTION 5

An administrator has observed an alert message in the vSphere Ul related to a host\\'s storage sensor hardware. Where
should the administrator look for more information related to this alert?

A. Menu > Lifecycle Manager > Baselines

B. Host > Monitor > Skyline Health

C. Host > Monitor > Hardware Health > Storage Sensors
D. Host > Monitor > Hardware Health > System Event Log

Correct Answer: D
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